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Section 6.2

Use your prior knowledge (Trigonometry Unit) to now make the connections between the idea of slope as a 
fraction that is rise over run, to the Tangent relationship that is a fraction that is opposite over adjacent.  Both are 
based on the arms that form the right angle in a triangle.

Slope =
Run
Rise = Opposite

Adjacent
= Tangent θ (angle of elevation)

θ

Opposite = Rise (vertical)

Adjacent = Run (horizontal)

Hypotenuse

Slope and Angle of Elevation

We now see the Rise as the Opposite side and the Run as the Adjacent side.
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Relationship between Slope and Angle of Elevation

Yanick and Emily plan to build a wheelchair ramp for their grandmother.  
They learn that outdoor ramps must have a slope close to 1:12 but not 
greater.  This ensures that the person in the wheelchair can safely travel up 
and down the ramp.

a) To start, they measure the space they have to build the ramp.
• The distance from the doorway straight down to the ground is 2 feet.
• The walkway along the ground is 40 feet.

Do they have enough space in order for the ramp to be safe?

b) Once the  ramp is built, what angle will the ramp make with the ground?

Example:

2 ft

40 ft
θ

Slope = Rise
Run

= 2
40

= 0.05

New Ramp Maximum Safe Slope
1:12

Slope = 1
12

= 0.083...

0.05 is less than 0.083... 

Therefore they have enough space.

tangent θ= opposite
adjacent

tangent θ= 2
40

tangent θ= 0.05
θ= tan­1 0.05
θ= 2.862...

The ramp makes an angle of 3° with the ground.
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Angle of Elevation from a Graph

Rise=2

Run=3
θ

***Remember that Angle of Elevation is the Tangent 
function.

Rise = Opposite
Run = Adjacent

Find the angle of elevation in the graph below.

tangent θ = rise
run

tan θ = 2
3

tan θ = 0.6667 (remember to round to 4 decimal places)

θ = tan­1 0.6667
θ = 34°
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Slope as a Percent Grade

Now let's call on prior knowledge about percent.

Percent can be represented as a fraction out of 100.

Once we have a fraction, we now have a Rise and a Run.

Example: 18% = 18
100

= Rise
Run

Now we have slope

Grade: the slope of a road or railway; usually expressed as a percent

On roads we often see signs like the one above.  These signs are placed as warnings of upcoming steep hills.

18  =  9  
100     50

as a reduced fraction

The grade of the road above is 18%.  It means that the road drops 9 units for every 50 units horizontally.
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Exercises for practice
Pages 278 ­ 279  Questions: 1 ­ 6
Pages 282 ­ 283  Questions: 1 ­ 8

Answers
Pages 395 ­ 396
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Remember a horizontal line has a slope of 0

Remember a vertical line 

has a slope stated as 

undefined
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Answers
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